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‘ocus Question: How do 1 use a quadratic in intercept form? ¥:0
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A. The path of a kicked football can be modeled by the function /(x) = ~0.026x( x~4

horizontal distance in yards and f(x) is the corresponding height in yards,
1) How ..'.:E was the ball kicked? hﬂ‘
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2) What is the maximum hc_iﬁll_l of the ball in yards? In feet?
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3) If this was a 40 yard hield goal @ T The height of the cross bar is 10 feet, would the kicker have
made or missed the field goal (assume his aim was good and between the goal posts)?

(40 = -0.0 26 () (40-Yo)
ro2UNdy g 20yds > (0PY.
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B. Although a football ficld appears to be flat, its surface is actually shaped like a parabola so that rain runs
off to both side lines. The cross section of a field with synthetic turf can be modeled by the function

h(x) = —0.000234x(x —160) where x, which represents the distance from the sideline, and A, which

[ . w
reptesents height, are both measured 1n feet.
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1) How much higher is the center of a football field than the sidelines?
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C. Babe Ruth is a famous New York Yankee's slugger. One of his hits can be modeled by the function
h(d) =-0.00002(2d + 73)(4d —1981) where h is the height of the ball and 4 is the horizontal distance
it’s been hit in feet.

1.~ How high was the ball off the ground when he hit it? %i\\k

h(O) = =0.000072 (Ztd) v13)( 4(t)-1a%l
= ~0.00002 (il‘g%:\‘?ﬂ(} 3
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2. In 1923 the outfield wall up the right field line was 295 feet from home plate and had a height of 10 feet.

Would this hit have been a homerun?
W(295) = -0.0000 2. (299 ¥13) (4 (299 -1a%)
= |0, 62\20 .
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_ at was the highest the ball went in the air? . ‘_
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bottlenose dolphin jumps out of the water. The path the

dolphin travels can be modeled
D. A

by h(d) = -0.2d(d - 10), here h represents height of the dolphin in feet and d represents horizontal
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How far did the dolphin jump? 1
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